

$$\vec{S} = \vec{S}_1 + \vec{S}_2$$

$$\vec{S}_i^2 |s_i, m_{s_i}\rangle = \hbar^2 s_i (s_i + 1) |s_i, m_{s_i}\rangle \quad i = 1, 2$$

$$S_{iz} |s_i, m_{s_i}\rangle = \hbar m_{s_i} |s_i, m_{s_i}\rangle$$

$$[S_{i1}, S_{j1}] = i\epsilon_{ijk} S_{k1}$$

$$[S_{i2}, S_{j2}] = i\epsilon_{ijk} S_{k2}$$

$$[\vec{S}_1, \vec{S}_2] = 0$$

$$S^2 |s, m_s\rangle = \hbar^2 s(s+1) |s, m_s\rangle$$

$$S_z |s, m_s\rangle = \hbar m_s |s, m_s\rangle$$

$$[S_i, S_j] = i\epsilon_{ijk} S_k$$

$$\{S_1^2, S_2^2, S_{1z}, S_{2z}\} \rightarrow \{S^2, S_z, S_1^2, S_2^2\}$$

$$|s_1, m_{s_1}\rangle \otimes |s_2, m_{s_2}\rangle \rightarrow |s, m_s; s_1, s_2\rangle$$

$$|s, m_s; s_1, s_2\rangle = \sum_{m_{s_1}, m_{s_2}} C_{m_{s_1}, m_{s_2}} |s_1, m_{s_1}\rangle \otimes |s_2, m_{s_2}\rangle$$

↪ Clebsch-Gordan

- ① $|\uparrow\rangle \quad |\downarrow\rangle \quad s_1 = \frac{1}{2} \quad m_{s_1} = \pm \frac{1}{2}$
- ② $|\uparrow\rangle \quad |\downarrow\rangle \quad s_2 = \frac{1}{2} \quad m_{s_2} = \pm \frac{1}{2}$

$$|s, m_s\rangle = C_1 |\uparrow\uparrow\rangle + C_2 |\downarrow\uparrow\rangle + C_3 |\uparrow\downarrow\rangle + C_4 |\downarrow\downarrow\rangle$$

$$S^2 \quad S_z$$

$$|0, 0\rangle = \frac{1}{\sqrt{2}} (|\uparrow\downarrow\rangle - |\downarrow\uparrow\rangle) \quad \text{Singlet}$$

$$\begin{matrix} |1, -1\rangle \\ |1, 0\rangle \\ |1, +1\rangle \end{matrix} \quad \left. \begin{matrix} \frac{1}{\sqrt{2}} (|\uparrow\downarrow\rangle + |\downarrow\uparrow\rangle) \\ |\uparrow\uparrow\rangle \end{matrix} \right\} \text{Triplet}$$

$$2 \otimes 2 = 1 \oplus 3$$

a) $(\bar{q}q)$ بارون $\bar{u}u$

تباين L^2, L_z \otimes تباين L^2, L_z \otimes تباين L^2, L_z \otimes تباين L^2, L_z

b) بارون $q q q$ بارون uud
بارون udd

$$2 \otimes 2 \otimes 2 =$$

$$2 = \begin{cases} 2S+1 = m_s \\ S = \frac{1}{2} \end{cases}$$

$$\left(\vec{S}_1 + \vec{S}_2 \right) + \vec{S}_3$$

$$\vec{S}_1 + \vec{S}_2 \quad \left\{ \begin{array}{l} S_a = 0 \\ S_a = 1 \end{array} \right. \quad S_3 = \frac{1}{2}$$

$$\vec{S}_1 + \vec{S}_2 \quad \left\{ \begin{array}{l} S_1 = 1 \\ S_2 = 1 \end{array} \right.$$

$$1) \quad |S_1 - S_2| \leq S \leq (S_1 + S_2) \quad \text{قول "نقطة في المثلث"} \quad S = \frac{1}{2} \quad m_S = \pm \frac{1}{2}$$

$$2) \quad 1 - \frac{1}{2} = \frac{1}{2} \leq S \leq 1 + \frac{1}{2} = \frac{3}{2} \quad S = \frac{1}{2}, \left(\frac{3}{2}\right) \rightarrow m_S = \pm \frac{1}{2}, \pm \frac{3}{2}$$

$$\frac{1}{\sqrt{3}} \rightarrow \left\{ \begin{array}{l} | \uparrow \uparrow \uparrow \rangle \\ | \uparrow \uparrow \downarrow \rangle + | \uparrow \downarrow \uparrow \rangle + | \downarrow \uparrow \uparrow \rangle \\ | \downarrow \downarrow \uparrow \rangle + | \downarrow \uparrow \downarrow \rangle + | \uparrow \downarrow \downarrow \rangle \\ | \downarrow \downarrow \downarrow \rangle \end{array} \right\} \begin{array}{l} | \frac{3}{2}, \frac{3}{2} \rangle \\ | \frac{3}{2}, \frac{1}{2} \rangle \\ | \frac{3}{2}, -\frac{1}{2} \rangle \\ | \frac{3}{2}, -\frac{3}{2} \rangle \end{array} \quad m_S = m_{S_1} + m_{S_2} + m_{S_3}$$

$$\left\{ \begin{array}{l} (|\uparrow \downarrow \rangle - |\downarrow \uparrow \rangle) |\uparrow \rangle \\ (|\uparrow \downarrow \rangle - |\downarrow \uparrow \rangle) |\downarrow \rangle \end{array} \right\} \begin{array}{l} | \frac{1}{2}, \frac{1}{2} \rangle \\ | \frac{1}{2}, -\frac{1}{2} \rangle \end{array} \quad \psi_{12}$$

$$\left\{ \begin{array}{l} |\uparrow \rangle (|\uparrow \downarrow \rangle - |\downarrow \uparrow \rangle) \\ |\downarrow \rangle (|\uparrow \downarrow \rangle - |\downarrow \uparrow \rangle) \end{array} \right\} \begin{array}{l} | \frac{1}{2}, \frac{1}{2} \rangle \\ | \frac{1}{2}, -\frac{1}{2} \rangle \end{array} \quad \psi_{23}$$

$$2 \otimes 2 \otimes 2 = 2 \oplus 2 \oplus 4$$

$$K_{1/2} \otimes K_{1/2} \otimes K_{1/2} = 2 K_{1/2} + K_{3/2}$$

$$2 \times \frac{1}{2} + 1 \quad \quad \quad 2 \times \frac{3}{2} + 1$$

ضرب تماثلزاسون

$$\begin{matrix} S & m_S \\ |0 & 0\rangle = \frac{1}{\sqrt{2}} (|\uparrow \downarrow \rangle - |\downarrow \uparrow \rangle) \end{matrix}$$

$$\langle 00 | 00 \rangle = 1$$

$$\langle 00 | 00 \rangle = \frac{1}{2} (\langle \uparrow \downarrow | - \langle \downarrow \uparrow |) (|\uparrow \downarrow \rangle - |\downarrow \uparrow \rangle)$$

$$= \frac{1}{2} (\underbrace{\langle \uparrow \downarrow | \uparrow \downarrow \rangle}_1 - \langle \uparrow \downarrow | \downarrow \uparrow \rangle - \langle \downarrow \uparrow | \uparrow \downarrow \rangle + \underbrace{\langle \downarrow \uparrow | \downarrow \uparrow \rangle}_1)$$

$$= 1$$

مبادل $\langle \uparrow \downarrow | \uparrow \downarrow \rangle = \langle \uparrow | \uparrow \rangle \langle \downarrow | \downarrow \rangle = 1$

مبدوم $\langle \uparrow \downarrow | \downarrow \uparrow \rangle = \langle \uparrow | \downarrow \rangle \langle \downarrow | \uparrow \rangle = 0$

$$\begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 \\ 0 \\ 0 \\ 1 \end{pmatrix}$$

$$\{\vec{L}^2, L_3, \vec{S}^2, S_3\} \rightarrow \{\vec{J}^2, J_3; L^2, S^2\} \quad \text{نقطة}$$

$$|j, m_j\rangle = \sum C |l, m_l\rangle \otimes |s = \frac{1}{2}, m_s = \pm \frac{1}{2}\rangle$$

$$-l \leq m_l \leq l$$

$$m_j = m_l + \frac{1}{2} \quad \text{أعلى}$$

$$m_j = m_l - \frac{1}{2}$$

نقطة

$$m_j = m_l - \frac{1}{2}$$

أثبت $|j, m_j\rangle = \alpha |l, m_l\rangle |\uparrow\rangle + \beta |l, m_l\rangle |\downarrow\rangle$

من جهة $J_3 |j, m_j\rangle = \hbar m_j |j, m_j\rangle = \hbar m_j (\alpha |l, m_l\rangle |\uparrow\rangle + \beta |l, m_l\rangle |\downarrow\rangle) *$

من جهة $J_3 (\alpha |l, m_l\rangle |\uparrow\rangle + \beta |l, m_l\rangle |\downarrow\rangle)$

$$= \alpha \hbar m_l |l, m_l\rangle |\uparrow\rangle + \alpha \frac{\hbar}{2} |l, m_l\rangle |\uparrow\rangle + \beta \hbar m_l |l, m_l\rangle |\downarrow\rangle + \beta (-\frac{\hbar}{2}) |l, m_l\rangle |\downarrow\rangle$$

$$= \alpha \hbar (m_l + \frac{1}{2}) |l, m_l\rangle |\uparrow\rangle + \beta \hbar (m_l - \frac{1}{2}) |l, m_l\rangle |\downarrow\rangle *$$

$$\frac{m_j = m_l + \frac{1}{2}}{m_l = m_j - \frac{1}{2}}$$

$$m_j = m_l - \frac{1}{2}$$

④ $J^2 |j, m_j\rangle = \hbar^2 j(j+1) |j, m_j\rangle$ لقس α, β, j

$$J^2 = (\vec{L} + \vec{S})^2 = L^2 + S^2 + 2L_3 S_3 + L_+ S_- + L_- S_+$$

$$L_{\pm} |l, m_l\rangle = \hbar \sqrt{l(l+1) - m_l(m_l \pm 1)} |l, m_l \pm 1\rangle$$

$$2(S_x L_x + S_y L_y) = L_+ S_- + L_- S_+$$

$$L_{\pm} = L_x \pm iL_y$$

$$S_{\pm} = S_x \pm iS_y$$

$$S_+ |\uparrow\rangle = 0 \quad S_- |\uparrow\rangle = \hbar |\downarrow\rangle$$

$$S_+ |\downarrow\rangle = \hbar |\uparrow\rangle \quad S_- |\downarrow\rangle = 0$$

* من جهة $J^2 |j, m_j\rangle = (L^2 + S^2 + 2L_3 S_3 + L_+ S_- + L_- S_+) (\alpha |l, m_l\rangle |\uparrow\rangle + \beta |l, m_l\rangle |\downarrow\rangle)$

$$= \hbar^2 \left(\alpha l(l+1) + \frac{3}{4} \alpha + \alpha (m_j - \frac{1}{2}) + \beta \sqrt{l(l+1) - (m_j - \frac{1}{2})^2} \right) |l, m_j - \frac{1}{2}\rangle |\uparrow\rangle$$

$$+ \hbar^2 \left(\beta l(l+1) + \frac{3}{4} \beta - \beta (m_j + \frac{1}{2}) + \alpha \sqrt{l(l+1) - (m_j + \frac{1}{2})^2} \right) |l, m_j + \frac{1}{2}\rangle |\downarrow\rangle$$

* من جهة $= \hbar^2 j(j+1) (\alpha |l, m_j - \frac{1}{2}\rangle |\uparrow\rangle + \beta |l, m_j + \frac{1}{2}\rangle |\downarrow\rangle)$

Ⓐ $\alpha (j(j+1) - l(l+1) - \frac{3}{4} - (m_j - \frac{1}{2})) = \beta \sqrt{l(l+1) - (m_j - \frac{1}{2})^2}$

Ⓑ $\beta (j(j+1) - l(l+1) - \frac{3}{4} + (m_j + \frac{1}{2})) = \alpha \sqrt{l(l+1) - (m_j + \frac{1}{2})^2}$

Ⓐ · Ⓑ →

$$C = j(j+1) - l(l+1) - \frac{3}{4}$$

$$C^2 + C - l(l+1) = 0$$

$$C_{\pm} = \frac{1}{2} (-1 \pm \sqrt{1 + 4l(l+1)})$$

$$C_+ = \frac{1}{2} (-1 + 2l+1) = l = j(j+1) - l(l+1) - \frac{3}{4}$$

$$C_- = \frac{1}{2} (-1 - 2l-1) = -l-1 = j(j+1) - l(l+1) - \frac{3}{4}$$

$$j = l + \frac{1}{2}$$

$$j = l + \frac{1}{2} \quad \checkmark$$

$$j = l - \frac{1}{2} \quad \checkmark$$

$$l = j_1, \quad j_2 = \frac{1}{2} \quad j$$

$$|j_1 - j_2| \leq j \leq j_1 + j_2$$

$$l - \frac{1}{2} \leq j < l + \frac{1}{2}$$

$$\bullet \quad \underline{j = l + \frac{1}{2}} \quad \textcircled{A} \quad \beta_{\pm} \rightarrow \frac{\beta}{\alpha} = \sqrt{\frac{l - m_j + 1/2}{l + m_j + 1/2}}$$

$$\alpha_{\mp} = \sqrt{\frac{l + m_j + 1/2}{2l + 1}}$$

$$\beta_{\mp} = \sqrt{\frac{l - m_j + 1/2}{2l + 1}}$$

$$|j, m_j\rangle = |j = l \pm \frac{1}{2}, m_j = m_l \pm \frac{1}{2}\rangle$$

$$= \alpha_{\pm} |l, m_l = m_j - \frac{1}{2}\rangle | \uparrow \rangle + \beta_{\pm} |l, \overbrace{m_l + 1}^{m_j + \frac{1}{2}}\rangle | \downarrow \rangle$$

$$\downarrow \quad \downarrow$$

$$m_l = m_j - \frac{1}{2}$$

$$\alpha_{\pm} = \pm \beta_{\mp} = \pm \sqrt{\frac{l \pm m_j + 1/2}{2l + 1}}$$